A ball is shot into the air with an initial speed of 184
ft/sec from a height of 35 feet. The following equation
models the height of the ball as a function of time:

h(t) = -16t% + 184t + 35 LS
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1. Find the maximum height of the ball. —t = =31,
h(575)= 504 & = 575
2. Find the@it takes to reach this maximum height.
519 %

h(t) = -16t2 + 184t + 35
How long will it take to reach a height of 100 feet?
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h(t) = -16t* + 184t + 35
How long does it take the ball to come back to the ground?
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An object is shot into the air from a height of 13 feet.
The following equation models the height of the ball as a

function of time: h(t) = -16t? + 80t + 13

How long will it take this object to reach
a height of 70 feet?
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